Plot [['taocraw:-0', 'taocavg’, 'taoc'], ['kOraw:-0', 'kOavg', 'k0'], ['klraw:-0', 'klavg', 'k1'], ['k2raw:-0', 'k2avg', 'k2'], ['Tblraw:-o', 'Tblavg', 'Tbl']]

0.9 1

0.8 A

0.7

0.6

0.5 A

0.4 1

—— taocraw
——— taocavg
—— taoc

25

75 100

125

150

175

0.210 A

0.205 A

0.200 A

0.195 -

0.190 -

Warning: col ['kOraw’, 'kOavg'] is missin

[ o ) e ———

25

50

75 100

125

150

175

—@— klraw
—— klavg

=

|

| IL

i

Wil

50

75 100

125

150

175

1.4

1.2

1.0

0.8 A

0.6 -

0.4 1

0.2 1

—0— k2raw
—— k2avg

25

50

75 100

150

175

Warning: col ['Tblraw', 'Tblavg'] is missing

— Thl

20

40

80




30

20

10

1000

800

600

400

200

35

30

25

20

15

16

14

12

10

P10AE D:60 2025-05-29

o — 1 0_________15 _______ 0 e -;O _____
A M
A \W\
/ ' A /
/N, /
/ M L Aﬁ/
0 5 10 15 0 o -
N N~
— \\ )
__ Ve
0 5 10 15 o o -
.
i,
/ “\\ bz
g M&Wﬁg‘ﬁ?/:\\\,/
0 5 10 15 0 o -



